
弧　2� % 9 %
240240240

360360360

= 2� % 9 %
2

3

= 1212�(cmcm)

面積　� % 9 % 9 %
240240240

360360360

= � % 9 % 9 %
2

3

= 5454�(cmcm2)

弧　2� % 8 %
225225225

360360360

= 2� % 8 %
5

8

= 1010�(cmcm)

面積　� % 8 % 8 %
225225225

360360360

= � % 8 % 8 %
5

8

= 4040�(cmcm2)

弧　2� % 1010 %
216216216

360360360

= 2� % 1010 %
3

5

= 1212�(cmcm)

面積　� % 1010 % 1010 %
216216216

360360360

= � % 1010 % 1010 %
3

5

= 6060�(cmcm2)

弧　2� % 6 %
150150150

360360360

= 2� % 6 %
5

1212

= 5�(cmcm)

面積　� % 6 % 6 %
150150150

360360360

= � % 6 % 6 %
5

1212

= 1515�(cmcm2)

⑳⑲⑱⑰

弧　2� % 1010 %
144144144

360360360

= 2� % 1010 %
2

5

= 8�(cmcm)

面積　� % 1010 % 1010 %
144144144

360360360

= � % 1010 % 1010 %
2

5

= 4040�(cmcm2)

弧　2� % 4 %
135135135

360360360

= 2� % 4 %
3

8

= 3�(cmcm)

面積　� % 4 % 4 %
135135135

360360360

= � % 4 % 4 %
3

8

= 6�(cmcm2)

弧　2� % 6 %
120120120

360360360

= 2� % 6 %
1

3

= 4�(cmcm)

面積　� % 6 % 6 %
120120120

360360360

= � % 6 % 6 %
1

3

= 1212�(cmcm2)

弧　2� % 1010 %
108108108

360360360

= 2� % 1010 %
3

1010

= 6�(cmcm)

面積　� % 1010 % 1010 %
108108108

360360360

= � % 1010 % 1010 %
3

1010

= 3030�(cmcm2)

⑯⑮⑭⑬

弧　2� % 8 %
9090

360360360

= 2� % 8 %
1

4

= 4�(cmcm)

面積　� % 8 % 8 %
9090

360360360

= � % 8 % 8 %
1

4

= 1616�(cmcm2)

弧　2� % 9 %
8080

360360360

= 2� % 9 %
1

9

= 2�(cmcm)

面積　� % 9 % 9 %
8080

360360360

= � % 9 % 9 %
1

9

= 9�(cmcm2)

弧　2� % 1010 %
7272

360360360

= 2� % 1010 %
1

5

= 4�(cmcm)

面積　� % 1010 % 1010 %
7272

360360360

= � % 1010 % 1010 %
1

5

= 2020�(cmcm2)

弧　2� % 1212 %
6060

360360360

= 2� % 1212 %
1

6

= 4�(cmcm)

面積　� % 1212 % 1212 %
6060

360360360

= � % 1212 % 1212 %
1

6

= 2424�(cmcm2)

⑫⑪⑩⑨

弧　2� % 1212 %
4545

360360360

= 2� % 1212 %
1

8

= 3�(cmcm)

面積　� % 1212 % 1212 %
4545

360360360

= � % 1212 % 1212 %
1

8

= 1818�(cmcm2)

弧　2� % 9 %
4040

360360360

= 2� % 9 %
1

9

= 2�(cmcm)

面積　� % 9 % 9 %
4040

360360360

= � % 9 % 9 %
1

9

= 9�(cmcm2)

弧　2� % 1010 %
3636

360360360

= 2� % 1010 %
1

1010

= �(cmcm)

面積　� % 1010 % 1010 %
3636

360360360

= � % 1010 % 1010 %
1

1010

= 1010�(cmcm2)

弧　2� % 6 %
3030

360360360

= 2� % 6 %
1

1212

= �(cmcm)

面積　� % 6 % 6 %
3030

360360360

= � % 6 % 6 %
1

1212

= 3�(cmcm2)

⑧⑦⑥⑤

◆次のおうぎ形の、弧の長さと面積を求めよ。

円周　2� % 7

= 1414�(cmcm)

面積　� % 7 % 7

= 4949�(cmcm2)

円周　2� % 6

= 1212�(cmcm)

面積　� % 6 % 6

= 3636�(cmcm2)

円周　2� % 5

= 1010�(cmcm)

面積　� % 5 % 5

= 2525�(cmcm2)

円周　2� % 3

= 6�(cmcm)

面積　� % 3 % 3

= 9�(cmcm2)

④③②①

◆次の円の、円周と面積を求めよ。

ドリルプリント　１年生「円とおうぎ形」　ＮＯ．１【解答】
　


